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PHILOSOPHY
[HONOURS]

Skill Enhancement Course (SEC)
Course Code : PHIL-H-SEC-T-2
[Logical Rules and Fallacies (Western)]|

Full Marks : 40
The figures in the right-hand margin indicate marks.

Time : 2 Hours

Candidates are required to give their answers in
their own words as far as practicable.

1. Answer any five questions: 2x5=10
@~ AiBi0 Are Ted mie ¢
a) What do you mean by decision procedure?
ez mafe e I @R
b) What 1s a set?
(9! I A 2

c) Test the validity of the argument by truth tree
method:

Tl smfed W YfEha (@qel #1Krm
<*d 2

A<«<>B . A—B
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Is the following statement true for all sets A,
B and C? If not give one counter example:

fasfeiie 3T = A, B € C 5961 (163 GFra
ey 2 AW 91 2 wiRrE @i Reaid yRie wie ¢

AegB&Bg C—Ag C.

What 1s Domain of Individuals and complement
of a set—Show giving an example of a set.

A el e s @ St —oTna 9
TR TG (TG |

Express the followings by drawing a Venn
diagram:

el ot o @ibaea Tge aam
T ¢

-
(AnB)~C=~Aa

Apply truth tree method to test the validity of
the following statement:

ol oiafe grmlel Fa fuiiee gfelba
Aqe! ArF T4 ¢

A—(B—A)
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h) Symbolise in set notation: TUZATR RN FE9 @ AR W& e md

All Americans are philosophers. (identity) ™oF YA (symmetric) €%
Men are not reptj]esﬁ ﬂiﬂ“'ﬂﬂs (tTﬂHSiti?E)ﬁ@ ATATSS (membership)
% Fers e 79 ¢ TE (@0 ], Ime @@‘Qi“@ﬁ. (inclusion)
T ORI W ) TR A (7 TN 7
T FAFo 73 | c) Let,
2. Answer any two questions: 5x2=10 14l 1<,
@~ qfo Amid Ted wie ¢ T={d}, W={c d}, X=4{a b, c},
a) 1) Test by truth tree method whether the Y= 1{a, b}, Z={ab,dj
following sentences are logically Determine whether each of the following
equivalent: statements is 'true' or 'false"
A sl M e AFefe e el o w2 N [dw 59 ¢
AT & T ©f 21 9 3
Y c X, TeY YaZ

(AvC)<«<—>(Bv(C),Cv(A<=B)

3 ‘ W=Z, I o X, WcYy
11) Use truth tree method to verify that the

following sentences are tautologies: Determine the following
firaie amel Toore & @ ©f Aol fraffeeosl fdt 33 3
S RISITORCERIET -

LA A} 0 (A
A AT~ AY
A AT~ A

A} N A

—A <> B) <> (A «—> B)
(A& B)v(B&C))|]— (-A & -B)

b) Explain with examples that the relation of
identity between sets 1s both symmetric and
transitive but membership is neither, whereas

inclusion 1is transitive but not symmetric.
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d) What i1s 'mutually consistent' in a Venn
Diagram? Are the following asumptions
mutually consistent?—Explain by a Venn
Diagram.

(oo @RIMDAE o7 Fies)” TETCe F (@R 2

LS e g

e aamal ‘o weaferd ol ©

G0 (oD E MY [ F ¢
ANV=#A
VN S=Aa
ANS#Aa
Answer any two questions: 10x2=20

Q-G 9o Araid Ted wle 2
a) Test the validity of the following arguments by
using truth-tree method (any two):
TRl “imfon AR FEkie Fewkr el
5 39 (@@ 45) ¢
1) India will win the game only 1f weather 1s
not bad. Weather will not be bad only if
weather forecast 1s not wrong. So if India

1s to win the game, weather forecast should
not be wrong,

CAe (XY forord @ae I e A
2N | ST A9 [ A (FE IW
RS AT e w1 2 | JodR I SO
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(TR ferere 23 ord SRRled! 6! ge 267!
BETCS 1 |

1) (P<«<—= Q)& (R<—=Y)
QvS)—T

—T v §)
.. —P & -R

111) Moriarty will escape unless Holmes acts.
We shall rely on Watson only if Holmes
does not act. So, if Holmes does not act,
Moriarty will escape unless we rely on
Watson.

@1 T Fieer =1 wiee!, S #hferc @i
@FIANE ZNA FICG 1 T A
GBAET €27 o7 F39 | ok @ I
FIrE o aest, WA AN T @
S GG e fTog I |

Test the validity of the following argument by

Venn Diagrams 1n set theory (any two):
Set theory-T® (SaAifbarea W WHE R

el (arel [Kom a9 (@-@Ie 1io)s
1) ~Ac~BnCQC

Cc~A

BcAvu-~C

. ~Bu(C)c~A
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iii)

i)

All lars are prejudiced.
Some witnesses are not lars.

. Some witnesses are not prejudiced.

e AR FHEET |
&g AFFmrel WM 93|

Todik g ARFMIe! FATHES 77 |

All poets are literators.

Some poets are philosophers.

Therefore, some philosophers are
literators.

e B ARl |

oz s v |

ek g nffas Tifos |

Give a counter example of :

g3 R 73ie e ¢
[A~Bu(Q)]=[(A~B)u(A~C)] 3

Are the following assumptions mutually

consistent? 3
All scientists are educated.

No scientists are educated.

Can you infer that 'there are no scientists'?
e apqafe F oim Ao ¢

[ 7] [Turn Over]

Aoe (Aelfee 2 e |

@ el 31 e |

O3 (A Ofi Fl SN FA00 M @ &F
(e (922

111) Translate the following statements in set
theoretical notation (symbolic form): 4

Tafefee el Eolldre (Fgstes
7)) Ie I ¢

A) Mangoes and grapes are fruits which
are usually loved by all.

I € THS 26 G el T A8
HREZ. ST |

B) All students who love philosophy are

disposed to analytical thinking and of
inquisitive temperament.

e BlE A1 v T 23 fResEal
PeleRd ¢ SEEfEe |

C) Some persons who drink both tea and

coffee donot drink milk.

g i 7121 51 ¢ e TSR 2/ F(3
Ol 14 Al FCJ 1 |

D) Not any visitors stayed for dinner.

(I STEF2 (reite Sofze fee = |
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